
Minusrechnen (bis 100 000)

Aufgabe 1

1. 69 127 - 12 821 =   

2. 68 941 - 37 133 =   

3. 88 523 - 77 683 =   

4. 56 781 - 47 481 =   

5. 85 835 - 57 431 =   

6. 98 465 - 86 653 =   

7. 56 055 - 19 198 =   

8. 79 042 - 34 074 =   

9. 91 304 - 66 526 =   

10. 84 120 - 18 800 =   

Aufgabe 2

1. 54 708 - 30 347 =   

2. 55 063 - 16 656 =   

3. 29 847 - 12 828 =   

4. 80 619 - 46 023 =   

5. 96 609 - 76 440 =   

6. 18 815 - 10 015 =   

7. 85 148 - 78 586 =   

8. 98 159 - 15 219 =   

9. 43 125 - 21 611 =   

10. 63 994 - 46 670 =   

Aufgabe 3

1. 69 246 - 38 795 =   

2. 34 800 - 17 789 =   

3. 75 607 - 26 793 =   

4. 84 360 - 67 926 =   

5. 71 292 - 30 656 =   

6. 49 037 - 10 834 =   

7. 66 465 - 48 513 =   

8. 79 721 - 13 013 =   

9. 41 209 - 21 668 =   

10. 90 213 - 21 084 =   

Aufgabe 4

1. 40 527 - 28 481 =   

2. 89 339 - 65 206 =   

3. 99 521 - 22 545 =   

4. 71 508 - 12 251 =   

5. 97 476 - 10 714 =   

6. 87 839 - 28 074 =   

7. 25 062 - 19 182 =   

8. 93 124 - 75 590 =   

9. 55 783 - 51 832 =   

10. 97 208 - 86 227 =   
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Minusrechnen (bis 100 000)
| ANTWORTEN

Aufgabe 1

1. 69 127 - 12 821 =  56 306

2. 68 941 - 37 133 =  31 808

3. 88 523 - 77 683 =  10 840

4. 56 781 - 47 481 =  9 300

5. 85 835 - 57 431 =  28 404

6. 98 465 - 86 653 =  11 812

7. 56 055 - 19 198 =  36 857

8. 79 042 - 34 074 =  44 968

9. 91 304 - 66 526 =  24 778

10. 84 120 - 18 800 =  65 320

Aufgabe 2

1. 54 708 - 30 347 =  24 361

2. 55 063 - 16 656 =  38 407

3. 29 847 - 12 828 =  17 019

4. 80 619 - 46 023 =  34 596

5. 96 609 - 76 440 =  20 169

6. 18 815 - 10 015 =  8 800

7. 85 148 - 78 586 =  6 562

8. 98 159 - 15 219 =  82 940

9. 43 125 - 21 611 =  21 514

10. 63 994 - 46 670 =  17 324

Aufgabe 3

1. 69 246 - 38 795 =  30 451

2. 34 800 - 17 789 =  17 011

3. 75 607 - 26 793 =  48 814

4. 84 360 - 67 926 =  16 434

5. 71 292 - 30 656 =  40 636

6. 49 037 - 10 834 =  38 203

7. 66 465 - 48 513 =  17 952

8. 79 721 - 13 013 =  66 708

9. 41 209 - 21 668 =  19 541

10. 90 213 - 21 084 =  69 129

Aufgabe 4

1. 40 527 - 28 481 =  12 046

2. 89 339 - 65 206 =  24 133

3. 99 521 - 22 545 =  76 976

4. 71 508 - 12 251 =  59 257

5. 97 476 - 10 714 =  86 762

6. 87 839 - 28 074 =  59 765

7. 25 062 - 19 182 =  5 880

8. 93 124 - 75 590 =  17 534

9. 55 783 - 51 832 =  3 951

10. 97 208 - 86 227 =  10 981
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